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P

�$� T
� ! �%���%$� �!�� �� ������ �$� ����������� ��%��

|P| = np
�$� |T | = nt��

W := (P × T ) ∪ (T × P) → IN
�!�$!� ��!  ��!���� "� ��������/ %� W (j, i) > 0� !���

W (i, j) > 0� ��!$ �! ��� ���� ��! ! %� �$ ��� � �� tj
�� pi

� �%��  ��!��
� �#���������$ W (j, i) � !��� ��! ! %� �$ � � � �� pi

�� tj
�%�� �!%��� W (i, j)��

Q
%� ��! �!� �� � �$�%�%�$ � %$�  ��!� � ��$ � �� !#��$!$�%�& �%�� %�"�%�$�� �$�

m0

%� ��! %$%�%�& �� �%$��
�� � �%'!$ � �$�%�%�$ tj ∈ T � %�� ������ �$� ������� � ! �%'!$ �� •tj =

{pi | W (i, j) > 0}
�$� tj

• = {pi | W (j, i) > 0}�  !��!��%'!&�� '$ ��! ���! ��$$! 
�! ��$ �!�$! ��! ������ �$� ������� �� � �%'!$ �&��!�
�� �$� � �$�%�%�$ tj

� � �� ��! �!%���!� &��  !&��%�$ �! ��$ ��! �!�$! ��! ���#�
%����� i(tj) = [W (1, j),W (2, j), . . . ,W (|P|, j)]

�$� ��! �#��#� %����� o(tj) =
[W (j, 1),W (j, 2), . . . ,W (j, |P|)]

� � �� ��! �!%���!� &��  !&��%�$ �! ��$ �&���!�$! ��! ��������� �����& C �%�� !$� %!� C[i, j] = W (j, i) − W (i, j)
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� � �$�%�%�$ tj
%� ���'��� %$ � �� �%$� m

%�
m ≥ i(tj)

� �!%$� !$��&!�� tj
���

���#� �� (��� �%!&�%$� � $!� �� �%$� m′ = m+C[., j] �C[., j]
%� ��! j
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%� ��&&!� ������'����$ ���� �$� %� �!$��!� �� ��
(m0)
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�
����!� x1,x2, . . . ,xh

�!$��! ��! �%$%��& ���!�%&��� ��"$� � �� ��! %$�%�!$�!
��� %#� ��! ��&&��%$� �!�$%�%�$� � ! !��!$�%�& �� ��! �$�&��%� �� ��! ���� ����
��'! � ��"�� �� � ��&"�%�$�
���%�"��% �� � �#'��� �� ����������� T ′ 	T ′ ⊆ T 
 �� ���� �� '� �&��!� ��
⋃

tj∈T ′ i(tj) =
⋃

tj∈T ′ o(tj).
�� ���������%� ��(������ �� � ������ ��� �� ������

������ �� ��� ����� ��!� ��� R(T ′) =
⋃

tj∈T ′ {i(tj) ∪ o(tj)}
'� ��� ��� �� ���#� ���

�#��#� '�!� ��� ����������� �� T ′ � 
�� �#'��� �� ����������� T ′ �� ���� �� '� �&��!�
�� ��� ��$ l ∈ R(T ′)

����� �&���� ti, tj ∈ T ′ �#�� ���� l = i(ti)
��� l = o(tj)� ������� ���� �#��#� '�! �� ���� �� ���#� '�! ��� ���� ���������� �� T ′ � ��� %����%�������� ���#� '�! �� ���� �� �#��#� '�!�

���%�"��% 
� N �� � Π�$!� �� ∀ tj ∈ T
����� �&���� � ������� 
�����"� x�#�� ���� tj ∈ ||x||

� ��� ||x||
�� � ������ ����

'$ ���! �� ��� N %� �
Π�$!� %� �&& � �$�%�%�$� � ! ��'! !� �� �&��!� �"��� �

�%$%��& ���!�%&����
�&����� �� Π ���� �%�" ! 
��� ����� � $!� ���%���%$� �!�$%�%�$ 	�0! ��$ �!!
���� ��! ! � ! ��� �%$%��& ���!�%&��� x1 = [1, 0, 1, 0]

�$� x2 = [0, 1, 0, 1]�
�%��

||x1|| = {t1, t3}
�$� ||x2|| = {t2, t4}

� 0! ��$ ���! '! ���� ⋃

tj∈||x1||
i(tj) =

{[1, 0, 0, 0], [0, 0, 1, 0]} =
⋃

tj∈||x1||
o(tj)

�$� ⋃

tj∈||x2||
i(tj) = {[1, 1, 0, 0], [0, 0, 0, 1]} =

⋃

tj∈||x2||
o(tj)

����� ���!�%&��� ��'! �&��!� �"��� � �!�� �%$�! �$� � �$�%�%�$ �!�
&�$�� �� � �&��!� �"��� � �%$%��& ���!�%&��� ��%� $!� %� �

Π�$!����! �!�$%�%�$ �� Π�$!�� ��� � %�%$�&&� ���%'��!� ��%&! ��"��%$� ��! � ���&!� �� �$�%$� � ��"�� �� � ��&"�%�$ �� ���� �	�(� 

� 
��� �� ! � !�%�!&�� �� 
��! ���� ��'%$� ��! Π

� ��! ��� ��! ! !#%��� � ���%�%'! ��&"�%�$ �� ��! � ���
!�"��%�$� ��!! �!&���� '$ �

Π�$!� �! �!$��! �� Xc = {x1,x2, . . . ,xl}
��! �!�

�� �&��!� �"��� � �%$%��& ���!�%&���� ���$� ��! �%$%��& �&��!� �"��� � ��
�!�%&���� �! ��$ %�!$�%�� �  !&��%�$ ���� ��$ �! "�!� �� �! %'! ��! ���� ����%�! !$� �%$%��& �&��!� �"��� � ���!�%&��� x′ �$� x′′ � ! ��%� �� �! �����$ ��������� �!$��!� �� (x′,x′′) ∈ FR� %� ��! ! !#%�� tj ∈ ||x′||

�$� th ∈ ||x′′|| �"�� ����
i(tj) = i(th)

� ��!  !&��%�$ ��∗ %� ��! � �$�%�%'! �&��" ! �� ��� '� %� !��� �� �!!
���� ��!  !&��%�$ ��∗ �%!&�� � �� �%�%�$%$� �� ��! �!� �� �%$%��& �&��!� �"��� ����!�%&���� �!��"�! �$� tj

��$ �!&�$� �� �$&� �$! ����&���� ��! �� �%�%�$ �����!�%&��� &!��� �� � �� �%�%�$ �� � �$�%�%�$�� '$ ��! ��&&��%$� �! �!$��! ��
C(tj)

��! �!� �� ��! �� �%�%�$ �� ��%�� � �$�%�%�$ t
�!&�$���



p1 p2

p4p3

t1 t2

t3 t4

2 2

22

p1

t1
t2 t3

t4

p2

(a) (b)
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�� �� �"!"!%$� �!��� ��� �� ��&"�%�$� �� ��� � ! ���!� �$ ��! �$��&��%� �� "$�! &�%$� �� ��' ���%$� ����� '$��!�� ��  !���$%$� %$ �! �� �� ��!�� �%�� ����!� �� �� �%$��� %� %� �� ! ��$'!$%!$� �� ��"�� �$ �"#%&%� � ��
�%�� ����!� �!%$� ��! %$�"� �� �"��"�� '!��� � i(t)� ��&&!� ��! ��#���! ����
���� �

� �� ��! ���� ��! %$�$%�!�%��& �!$! ��� Q �� ��%� �� %� �!�$!� ��/
q(i(tj),o(tj)) = µ(i(tj))P[i(tj),o(tj)]

�%��
µ(i(tj)) =

∑

i(th)=i(tj)
µh

�
P[a, b]

%�
��!  �"�%$� � ����%&%�� � �� a = i(tj)

�� b/ %� ��$ �! ����"�!� �� !#��%$%$� ��!'� %�"� � �$�%�%�$� !$��&!� ���! ��! � %$� �� tj
�$� µh

%� ��! "�"�&  ��! �� ���
� �$�%�%�$ th

� �� ��! ���! �� �%��&%�%��� �! � !�!$� �&& ��!  !�"&�� �� ���"�%$�
���� ��! � �$�%�%�$  ��!� � ! �� �%$� %$�!�!$�!$�� '$ �
��  !�"&�� � ! � !�!$�!�
�%�� �!'! �& �%$�� �� �� �%$� �!�!$�!$� � �$�%�%�$ � %$�  ��!��

��! � ��� !�"��%�$� �� ��!  �"�%$� � ��!�� � ! ��! �&���& ��&�$�! !�"��%�$�
�� ��%� ��� �!$��%$� �%��

v(i(tj))
��! �����&&!� '%�%�� ��%� �� $��! i(tj)

� ��!�!
!�"��%�$� ��$ �! ����!� ��/

∀ tj ∈ T , v(i(tj)) =
∑

th∈T
v(i(th))P[i(th), i(tj)]

�
�

��"��! %! �$� �! !$� �	� ����!� ���� � ��� !�"��%�$� �$� �� "��" �& � ��! �%!�
�� � $!� � ! �&��!&�  !&��!��
������� � ����� �
��� 	�� N = (P, T ,W,Q,m0) '� � )��� 
���� �� � ����#�� ������%� ���#���� ��� ��� 
��
� ��#������ 	�
 �
 N

�� � Π �����
��! !#%��!$�! �� � ���%�%'! ��&"�%�$ �� ��! � ��� ��"��%�$� �
� %� $�� �

�"��%!$� ��$�%�%�$ �� ���! � � � ��"����� � ��&"�%�$ �� ��! ������! ��&&��%$�
 !�"&� � �� ��&!��$ �� ��� �(� �$� �

�� ����!� ���� ��! !�"%&%� %"� �%�� %�"�%�$��� � � ��"����� � �'! ��! �&��!� �� ��! ��� ��!$!'! �$! ���%�%�$�& ��$�%�%�$��&����!� "� �!$��! f = v/µ �%��

v
� ��&"�%�$ �� ��! � ��� !�"��%�$�� �$� �!�$!

��! '!��� wf = [w1, . . . , wn]
��

wf =

[

log

(

f(i(t1))

f(o(t1))

)

, log

(

f(i(t2))

f(o(t2))

)

, · · · , log

(

f(i(tnt))

f(o(tnt))

)]

�	�



��! ! ��� �! ��$� �"$��%�$� f
���� �! %'! � �� ��&"�%�$� �� ��! � ��� !�"��

�%�$�� ���!'! !��� �$! %� "$%�"! "� �� � �"&�%�&%���%'! ��$���$� %$ !��� ��∗
�&���� ��%� %��&%!� ���� ��!  ��%� f(i(ti))/f(o(ti))

%� %$'� %�$��
������� 
 ����+$,".#��� ��� ��$������$����"���$"��% �� �� � �����
��� ������ 	�� f = v/µ  ��� v � ���#���� ��� ��� ���
� ��#������� 
�� ��#���'��#�
������'#���� ��� ��� )�� ��� ��� ����

π(m) =
1

G

np
∏

i=1

ymi

i ∀ m ∈ RS(m0) ���

�� ��� ���$ ��
Rank(C) = Rank([C | wf ])  ���� [C | wf ]

�� ��� �����& C�#!������  ��� ��� �� wf
��� G � ������������� ��������� �� ���� ����� ���

np���������� %����� r = [log(y1), . . . , log(ynp)]
� �����(�� ��� �����& ��#�����

−r.C = wf
�

'� �"�� �! $��!� ����� �!$! �&&�� ��! ��$�%�%�$
Rank(C) = Rank([C | wf ])�!�!$�� �$ ��! ����� �� ��! � �$�%�%�$� �� ��! $!� �$� $�� �$&� �$ ��! �� "��" !

�� ��! $!��


�� ��*����� ��
Π.%�"�

�!� "� � !�!$� ��� �!��%&!� !#���&!� �� Π�$!��� ��! � �� �$! ����&!�!$��
��! ��"�� �� ��! $!� �� �%�" ! 
��� �$� ��! �!��$� �$! ����� � �� ! ����&!#
�%�"��%�$ ���"� ��!  �$� ��$�%�%�$ �� ��!� !� 	� ��!  !��! �%&& �&�� �$� �$
!#���&! �� �$ "$��"$�!� Π�$!� %$ �!��%�$ 
���
�&����� � '$ ��%� !#���&! �! � %!&�  !'%!� ��! � ��!�" ! "�!� �� ����%$ ��!
!�"%&%� %"� �%�� %�"�%�$ �� ��! Π�$!� �!�%��!� %$ �%�" ! 
���� �� ���%�%�$�&�!��%&� ��!  !��! %�  !�!  !� �� �	�(�

�
��� �%$�! �! �$�� ���� ��! ��� %� �
Π�$!�� ��! ! %� � ��&"�%�$ �� ��! � ��� !�"��%�$� �
�/

v(i(t1)) = v(i(t3)) v(i(t3)) = v(i(t1))

v(i(t2)) = v(i(t4)) v(i(t4)) = v(i(t2))
�$! ��&"�%�$ %� v(i(t1)) = v(i(t3)) = v(i(t2)) = v(i(t4)) = 1� � �� ��%�� �!
����%$ f(i(t1)) = 1/µ1

� f(i(t3)) = 1/µ3
� f(i(t2)) = 1/µ2

� �$� f(i(t4)) = 1/µ4
�

��!  �� '!��� wf
%�/

wf = [log(f(i(t1))/f(i(t3)), log(f(i(t2))/f(i(t4))), log(f(i(t3))/f(i(t1))), log(f(i(t4))/f(i(t2)))]

= [log(µ3/µ1), log(µ4/µ2), log(µ1/µ3), log(µ2/µ4)]

��!  �$� ��$�%�%�$
Rank(C) = Rank([C | wf ]) �%'!� "�/

Rank









−1 −1 1 1
0 −1 0 1
1 0 −1 0
0 1 0 −1









= Rank













−1 −1 1 1
0 −1 0 1
1 0 −1 0
0 1 0 −1

w1 w2 w3 w4















��!  �$� ��$�%�%�$ ��&�� %$�!�!$�!$�&� �� ��!  ��! '�&"!� �!��"�! �! ��$ !���
%&� '! %�� ����

w1 + w3 = 0
�$� w2 + w4 = 0 �%$�! log

(

µ3

µ1

)

+ log
(

µ1

µ3

)

=

log
(

µ3

µ1

µ1

µ3

)

= log(1) = 0
�$� �%�%&� &� �� w2 + w4 = 0

�
�%$�! ��!� !� 	 ���&%!�� �! ��$ ����%$ ��! !#� !��%�$ �� π(m)

� �� ��%� !$��
�! � �� ��&'! ��! ��� %# !�"��%�$ r.C + wf = 0� ���� %� �� ���/

−r1 + r3 + w1 = 0 r1 − r3 + w3 = 0

−r1 − r2 + r4 + w2 = 0 r1 + r2 − r4 + w4 = 0.

��!$� �!��%$� r1 = r2 = 0� �! ����%$ r3 = w3
�$� r4 = w4

� �� ��%�� �! �! %'!
�ri = log(yi)

�� y1 = y2 = 1� y3 = µ1/µ3
� �$� y4 = µ2/µ4

� �!$�! ��! !�"%&%� %"�
�%�� %�"�%�$ �� ��! ��� �� �%�" ! 
��� %� π(m) = 1

G

(

µ1

µ3

)m3
(

µ2

µ4

)m4

.

�&����� � ��! ��� ����$ %$ �%�" ! 
���� ���!$ �� � �(��  !� !�!$�� �$ ��� %$
��%�� ��!  �$� ��$�%�%�$ %� $�� ���%��!� %$�!�!$�!$�&� �� ��!  ��! '�&"!�� ��!
%$�%�!$�! ��� %# C

%� �%'!$ �� C =

(

−1 2 −2 1
1 −2 2 −1

)

.
��%� ��� %� ��'! !�

�� ��" �%$%��& ���!�%&��� ����! �"��� � �!�� � ! ||x1|| = {t1, t4}� ||x2|| =
{t2, t3}� ||x3|| = {2t1, t2}� �$� ||x4|| = {t3, 2t4}

� �$&� x1

�$� x2

� ! �&��!�� �"���!� ��'! T �� ���� ��! ��� ���%��!� �!�$%�%�$ 	� ��!$ ��! ��� %� �
Π�$!��$� �!$�! ��! ! !#%��� � ���%�%'! ��&"�%�$ �� ��! � ��� !�"��%�$�� '$ �� �%�"&� 

�! ����%$ f(i(ti)) = 1
µi

�� i = 1, . . . , 4
� ��! '!��� wf

%� �%'!$ ��

wf=
[

log
(

f(i(t1))
f(i(t4))

)

, log
(

f(i(t2))
f(i(t3))

)

, log
(

f(i(t3))
f(i(t2))

)

, log
(

f(i(t4))
f(i(t1))

)]

=

[

log

(

µ4

µ1

)

, log

(

µ3

µ2

)

, log

(

µ2

µ3

)

, log

(

µ1

µ4

)]

��! �"��!$�!� ��� %# [C | wf ]
%�  �� !�"%'�&!$� �� ��! �"&&�  ��  !�"�!� ����

 %#




1 0 0 0
−1 0 0 0
w1 w2 + 2w1 w3 − 2w1 w1 + w4



 .
� ��!  �$� ��$�%�%�$� � ! w2 + 2w1 =

0� w3 − 2w1 = 0� �$� w1 + w4 = 0� ��%�� %��&%!�� f(i(t2))
f(i(t3))

(

f(i(t1))
f(i(t4))

)2

= 1�
f(i(t3))
f(i(t2))

(

f(i(t4))
f(i(t1))

)2

= 1� �$� 1 = 1  !��!��%'!&�� ��! � �� �$� �!��$� ��$�%�%�$�
� ! ��! ���! �$� � %�! �!��"�! ��! ! %� �� ! ���$ �$! ��� �� � ��"�! ��! ���!
���$�! �� �� �%$�� �"���%�"�%$� �� ��! �"$��%�$ f � ��!  �$� ��$�%�%�$ �!���!�
µ2

µ3
=

(

µ4

µ1

)2

.
'� ��%� ��$�%�%�$ %� �!�� ��!� !� 	 ���&%!�� �$�� &!��%$� y2 = 1

�%'!� y1 = f(i(t1))
f(i(t4))

� �%$�&&�� πf (m) =
[

µ4

µ1

]m1

.



� ��� ���		 ~�
Π�

{�|	
'$ ��%� �!��%�$ �! � ! %$�! !��!� %$ �� "��" �& � ��! �%!� �� Π�$!���0! � !�!$�
� �� �$ %��� ��$�  !�"&� ��%�� �&&��� �$! �� ��!��� %$ ��&�$��%�& �%�!� ���!��! � �%'!$ ��� %� � $�� �

Π�$!�� ��!$� � �%$� �� ���%�%�$ ��! �&��� �� Π�$!�� �%��
 !��!�� �� �&���%��& �� "��" �& �&���!� �� ��� �! ���� ���� ��! ! %� $� �%��&!
 !&��%�$ �!��!!$ ��!�! �&���!� �$� Π�$!���

��� ���������� �������
f��	j�i
� �
j��� Π��
i
L ← T
fail ← falsej
�
ki

a36 t ∈ L
A ← {t}
In ← {i(t)}
Out ← {o(t)}�
��
 ∃t′ ∈ L 5`6`

i(t′) ∈ Out �	
A ← A

⋃

{t′}
L ← L\{t′}
In ← In

⋃

{i(t′)}
Out ← Out

⋃

{o(t′)}
���
��

fail ← (In 6= Out)�� 1[ 0Z6fail 6<30 A 15 9 FR∗ \a955 ��

��i�� L = ∅
Z4 fail��

fail 15 64:3 1� 6<3 036 15 0Z6 9 ΠS036 ��
� �� ��! �!�$%�%�$ �� Π�$!�� �! ��$ �!�%�! %� � �%'!$ $!� ��&&� %$ ��%� �&������! � ��&!� ���� � %�!� %� ��! ����&!#%�� �� � �� �%����� �� � ���&%���%�$ ��

�!�$%�%�$ 	 �!��"�! ��! $"��! �� �%$%��& ���!�%&��� ��$ �! !#��$!$�%�& %$
��! $"��! �� � �$�%�%�$� �!���� �
(���0! � !�!$� $�� �$ �&�� %��� ���� �&&���
��  !���$%�! ��!��! � $!� %� �

Π�$!� %$ ��&�$��%�& �%�!� ��! ��"$�$!�� �� ��!�&�� %��� %� ���!� �$ ��! ��&&��%$� &!��� ��!! �	� �� ��! � �����
����* �� �� x

�� � ������ �#����� ������� 
�����"� ���� 	�
 ��� ���� �����������
ti ∈ ||x||

�
x[i] = 1 	x[i]

�� ���
i��� ��������� �� x
� 	��
 ||x||

��$ '� �������
�� {

tj0 , tj1 , . . . , tjh−1

} �#�� ���� o(tji
) = i(tji+1 mod h

) 	��� i = 0, 1, . . . , h − 1
���� l 6= l′ ⇒ i(tjl
) 6= i(tjl′

)�
��!������ ��� Π ���� ���'������ ��! � !'%�"� &!��� ����!� ���� � �&��!� �"���� � �%$%��&

T ��!�%&�� ��$ �! �!!$ �� � ���&! �� � �$�%�%�$� tj0 , tj1 , . . . , tjh−1�"�� ����
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) = i(tji+1 mod h
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� � �� �!� � ��� ���� %� � �!� % $!� �%�� �%$� � '�&"��%�$� ��! ! �$� �&��!��� !#���&� �$! %$�"� �$� �$! �"��"� � �$�%�%�$�
� � �!%���!� � �$�%�%�$ ����!� �0��� %� � �!� % $!� ��! ! �$� �&��! ���
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�������"��% �� ��������! Π �����  ��� ���� ��������� �#'������� �� ����� �����
 � ��%��
� �� N �� � �
) ��� � Π ����� ���� �� �� '���%��#����$ ��#�%����� �� � ���
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 !�"&�� ����! � %�! %� � ! �!�!$�!$� �$  ��!� �� � �$�%�%�$� ��!! �#���&! 	���� !�'! � �! %$� ��"�! � �� ! �!$! �& �!�!$�!$�� �� ��! � %$�  ��!� �� � �$��%�%�$� �%��  !��!�� �� ��! �&���& �� �%$� �� ��! $!� ����!��

��(������ ��
Π ����� � %�! %� ��"$� �� �!'! �& �"��� � �%$�! ��! &��! ���� �� 

�� ��&"�%�$ �� ��� � ! �$&� �"��%!$� ��$�%�%�$�� �$� �� !�'! � ��!� � ! ���!
"� �� �� "��" �& ��$�%�%�$� �$� ��$�%�%�$� �$ ��! ��������%� �� ��!�! � �� ��!���� '$ �!� �� �� � �" ! �� "��" �& ��� ���! %���%�$ �� �� ��&"�%�$ ���� �! �! !&!� �� �"&&�  !��$�%�! ��! ��$�!�� �� �'% �"�& �&%!$� ����!� �� �

Π�$!� ����!�%$ ��! ��$�!#� ��  �"�%$� � ��!��!� �$� �� �!!�&� �$�&��! ��� �� ��� ���! %�!
��!�! ����!�� '$ � !'%�"� �� ��� ���!�%&��� %�!$�%�� ��$�"  !$� �'% �"�& �&%!$������%'%�%!�� ��!�! ���%'%�%!� � ! ���$�� �$%�!�� �� ��$&%��%$�  !��" �!� �&&����%�$����� %� ��� !� %$�"� �&��!� �� � �$�%�%�$�� �� ���� ��$�! $� �&��!�� ��!� � !
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Π�$!�� �� %$���$�!� %$ ��! !#���&! $!� 
 ���" ! 
����� �! ��� ��%$� �� t1, p3, t3�� ����� ���� � ��!��%$� ����%'%�� 
�� �$� �� t2, p4, t4, p2

�� %$�! ���%'! �� � ��
"�! � ����%'%�� 	�� ��! �&��! p1

� ���!&&%$� � ��!���  !��" �!�� ��$$��� �&�$!�
��� ���! %�! ��! �%�&!� ����� ���� ����!� ��%� %� ��! � "�%�& ��%$�/ %$ �
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�! ��'! $� %$�� ���%�$ ���"� ��! ����! �� ��! '% �"�& �&%!$�� %$ ��! $!� ����!��$� ��%� %� ��! ��%$  !���$ ��%�� � !'!$�� "� �� ����! � $!�!��� � �$� �"��%!$�
��$�%�%�$ �� ��! !#%��!$�! �� � �� ��&"�%�$����"�&&�� �! ��'! ��"$� ���� '% �"�&
�&%!$� ����!� � ! ��� ���! %�!� �� �  !&��%�$ v.C = r� ��! ! v

%� � '!��� �$ �&��!��$� r
%� � '!��� �"�� ����

r[t] = 1
%�

t
���� � �&%!$� �� ��! �����!�� r[t] = −1

%�
t



 !��'!� � �&%!$� �$� r[t] = 0 ���! �%�!� ��! Π�$!� � ��! �� !#� !��!�� �� �!�$�
��  ��%�$�& '!��� � ar

� ��!  !&��%�$ ��%�� �"�� ��&� �!��!!$ '% �"�& �&%!$�� ����!�
�� �
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�� ��&"�%�$��� !�'! � ��%� !#�&%�%�  !&��%�$ �$ ����!� �� '% �"�& �&%!$�� �&&��� "� �� ���!&
��! �!�!$�!$�� �� ��! � %$�  ��! �� � � �$�%�%�$ tj

�%��  !��!�� �� ��! �&���&
����! �� ��! ����!� %$ �� �� ����%'%�%!�� �� ��! $!� $��  !&��!� �� ��! %$�"���"��"�'!��� � �� � �$�%�%�$� �!&�$�%$� �� C(tj)

� ��%� �%$� �� �!�!$�!$��� %$� ��"�!��� �"$��%�$� ρC(tj)
%$ ��! �!�$%�%�$ �!&��� ��$$�� �! ���!$ %$�� ����"$� %$ ��!� ��!�� � �� Π�$!���

�� ��!  !�� �� ��%� �!��%�$� �! �!�/ •r = {tj ∈ T | o(tj) = r}
�$� r• = {tj ∈

T | i(tj) = r}
�� !'! � r ∈ R(T )
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 �� � Π ���� �#�� ���� ���
�%��$ r ∈ R(T )

� ����� �&���� ar ∈ Q|P| �#�� ����

ar.C[P, j] =







1
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tj ∈ •r
−1
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tj ∈ r•

0
����� ���

 ���� C
�� ��� ��������� �����& �� ��� ��� 	���� ���� ���� �&��#��� �����������

th
 ��� i(th) = o(th)
�
�� (���! ���� �� � ���������� tj

�� � Π ���� �$���� �� ��� ������! m
�� !�%��

'$
µ(tj ,m) = µ(i(tj)).ρC(tj)

(

(ar′′ .m)r′′ /∈C(tj)

)

.P[i(tj),o(tj)]
�
�

���%�%'!�  !�& '�&"!� �"$��%�$� ρC(tj)

(

(ar′′ .m)r′′ /∈C(tj)

) ���! ����%�&! � �����
�!$!�"� �!�!$�!$�� �� ��! � �$�%�%�$� �� ��! �����$!$� C(tj)
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�� ��! '% �"�& �&%!$�� %$ ��! ���! �����$!$��� �%'!$ �� ��! ar′′ .m
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Π�$!���!! %��%$�%�!$�! ��� %# %$ �!��%�$ 	���� �!� "� �!� r1 = {p1}� �� ���� •r1 = {t4}
�$�

r•1 = {t1}
� '� �! � � �� �!�$! ��! '!��� ar1 = [a, b]� �! �!� a − b = 1 ��%$�!

t4 ∈ •r1
� �$� a− b = 0 ��%$�! t2 /∈ •r1

⋃

r•1
�� �!$�!� ar1

��!� $�� !#%�� �$� ��%���� %� $�� �
Π�$!�� '$ ����� t1

�$� t3
��'! � ��� �%�$�& %$�"� �$� �"��"� �����"� �!&�$� �� �%�! !$� ���!�%&��� �$� $� �%��%$��%�$ �!��!!$ ��!�! � �$�%�%�$�%� ����%�&! � �� r1 = [1, 0, 0, 0]

�
��! Π�$!� �� �#���&! 
 ��!! �!��%�$ 	��� %� �

Π�$!�� 0! ��'! ��" %$�"�'!��� � r� �!&�$�%$� �� ��� �&���!� / C1 = {r1 = [1, 0, 0, 0], r3 = [0, 0, 1, 0]}� C2 =
{r2 = [1, 1, 0, 0], r4 = [0, 0, 0, 1]}

� ��! ar

'!��� � � !
ar1 = [0, 0,−1, 0] ar3 = [0, 0, 1, 0]
ar2 = [0, 0, 0,−1] ar4 = [0, 0, 0, 1]



�!� "� ���"�! ���� ��!  ��! �� t3
�!�!$�� �$ ��! &��� �� t4

%$ �"�� � ��� ����
%� ��! �� �%$� �� p4

%� � !��! ���$ K4
� t3 ��$$�� � ! ��!��"�! $� �� !  !��" �!%� �'�%&��&! �� %$���$�!�� �� !�'! � �"����! ���� ��!  ��! �� t4

�!� !��!� &%$!� &�� �� µM
�� µm

�%�� ��! �� �%$� �� p4
'� �%$� � �� � �� K4

� ��!$ �! ��$ �!�$!

ρC(t3)

(

(ar′′ .m)r′′ /∈C(t)

)

=

{

0
%�

m[p4] ≥ K4
µm−µM

K4
.m[p4] + µM

%�
0 ≤ m[p4] < K4

�%$�! ar4 .m = m[p4]
�$� �! ��'! ��%&& � �� ��!��� ����! �%�� %�"�%�$�

�"! �� &��� �� ����!� �! � !�!$� %$ ��!  !�� �� ��! ���! �  !�"&�� �%���"��"$��%�$� ρC(t)
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 ��!� �� � �$�%�%�$�� �� ��! ��������%� ��!�%����%�$ �� ��! ����
������� �� 	��

(P, T ,W,Q,m0) '� � Π ����� 
���� �� �$� � �$�%�%�$  ��!��
��� �����$ ����� ������'#���� �� ��� )�� ��� ��� ����#�� ����

π(m) =
1

G
.

∏

ar∈R(T )

(

v(r)

µ(r)

)ar.m

∀ m ∈ RS(m0), ���

 ���� G
�� � ������������� �������� ��� v

�� � ���#���� �� ��#������ 	�
��!� "�  !�� � ���� ��%� � ��"�� �� � !#� !��%�$ %$�"�!�� �� ��" �!� � � ��"���� � �%��  !��!�� �� m� �%$�!/

∏

r∈R(T )

(

v(r)

µ(r)

)ar.m

=
∏

r∈R(T )

∏

pi∈P

(

v(r)

µ(r)

)ar[i].m[i]

=
∏

pi∈P





∏

r∈R(T )

(

v(r)

µ(r)

)ar[i]




m[i]

���",� �� ����� 0! �%'! �$&� � ��!��� �� ��! � ��� ��!! �
�� �� � �!��%&!�� ����� ��! ��� �%$� ��%$� %� ��! �����&&!� ��! � �"� ����& ��&�$�! ��"��%�$ �� � �� �%$� m �%��  !��!�� �� � �%'!$ '!��� r ��%�� %� � ��&%��%$� �� ��! !�"%&%��
 %"� �������$���&���� �'� !�"��%�$� �� ��! �� ��' ���%$ �%�� �� �%$�� ��
����!�/
π(m)

∑

tj∈ r•

q(m,m−i(tj)+o(tj)) =
∑

th∈•r

π(m+i(th)−o(th))q(m+i(th)−o(th),m]

�����!$ "�%$� ��! !#� !��%�$ �� ��!  ��!� q � �! %$� ��"�! ��! � ����!� !#� !��%�$�$� ���! �%��&%����%�$� �! �!�/

µ(r) =
∑

th∈•r

∏

r′∈R(T )

(

v(r′)

µ(r′)

)a
r′

.(i(th)−o(th))

µ(i(th))P[i(th), r]. �(�

� �� i(th) − o(th) = −C[P, h]
�$� ��! �!�$%�%�$ �� ar

� �(� ��$ �! ����$ !�"%�'�&!$� �� ��! � ��� ��"��%�$� �
��
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Π�$!�� ����%$%$���!� !�� � �$� 
� ��! �Π�$!� � ��! ��� ���!� � �� � $!�!��� � �$� �"��%!$�
�� "��" �& ��$�%�%�$ �� � $!� �� ��'! � � ��"�� �� � ��!��� ����! �%�� %�"�%�$��� ��$ ���������� ������
������� �� 	�� (P, T ,W,Q,m0) '� � Π ���� ��� v � ���#���� �� ��� 
��
���#������� �� ����� �� � �����$ (ar)r∈R(T )

�� �������� %������ �#�� ���� ��� �������'#����

π(m) =
1

G
.

∏

r∈R(T )

(

v(r)

µ(r)

)ar.m

∀ m ∈ RS(m0),

�����(�� ��� ���#� 	���� ������� ��#������ 	�
 ��� ��$ (µ(r))r∈R(T )

� ����  �
��%�

ar · C[P, j] =







1
��

tj ∈ •r
−1

��
tj ∈ r•

0
����� ���

���",� �� ����� ��!! �
�� �� � �!��%&!� � ��� �� ��! � �"� ����& ��&�$�!
��"��%�$� �� � �%'!$ m �%��  !��!�� �� � �%'!$ r

� ! ��!! �(��

µ(r) =
∑

tj∈•r

∏

r′∈R(T )

[

v(r′)

µ(r′)

]−a
r′

.C[P,j]

µ(i(tj))P[i(tj), r]
���

�%$�! ar′ .(i(tj) − o(tj)) = −ar′ .C[P, j]
�

��! %�!� %� �� !#� !�� ��� �� � �"&�%�'� %��&!� %�!$�%��&&� $"&& ���&�$��� �%�!� !#�
�!$�%�$ �� �"&�%�'� %��&!� ��&�$����%��  !�& '�&"!� !#��$!$�� %$��!�� �� %$�!�! �
�$ IR+ �$� �� �!�"�! ��! �&�%�!� � ��! �%!� �� ��! r

'!��� � � �� � ��! �%!� ��
��! ��!��%!$�� �� ��%� ���&�$���� �� ��%� !$�� �! %$� ��"�! ��! '!��� � �%��

np�����$!$�� γ(tj)
�$� γ0

%$ ��! ��&&��%$� ���/

γ(tj)[r
′] =

{

ar′ .C[P, j]
%�

r′ 6= i(tj)
ar′ .C[P, j] + 1

%�
r′ = i(tj)

�$� γ0[r′] =

{

1
%�

r′ = r

0 ���! �%�!
��%$� ��!�! '!��� �� � �$��� ���%�$ �� ��"��%�$ ��� � �'%�!� � ���&�$��� �%��
'� %��&!� µ(r′)

� �%� � �!��$%��&  !�"&�� %� ��$ ��!$ �! ����$ ���� �� �&&
tj

� ��!
�!� {tj ∈ •r | γ(tj) = γ 6= γ0}

%� !����� �� ����
∀tj ∈ •r, γ(tj) = γ0

� ��!  !�"&�
��!$ ��&&��� � �� ��! !'�&"��%�$ �� ��! $"��! � ar′ .C[P, j]
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�� ������ %$ ��%� �!��%�$� �! �!$��! �� N = (P, T ,W,Q)

� ��� �$� �� Σ =
(N ,m0)

� �� �!� ��� ��&�� ��&&!� ��� �$����� �%�� %$%�%�& �� �%$� m0

�

��� ���� ���*���$�*� ������"��� ��
Π.%�"�
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�
����* 
� 	�� Σ = (N ,m0) '� � Π ��$����� �� t ∈ T

�� ���'��� �� m ∈��
(m0)

� �����
	�
 ��� ����������� �� ��� ������� ������ �#����� 
�����"� � ��  ���� t '����!���� '� (����
	�
 ����� �� � (���! ���#���� ���� (��� ��� ��� ��������! ����������� �� ��� ��∗ �
����� �� t�
�������"��% 
� 	�� Σ = (N ,m0) '� � Π ��$�����
�� �� ∃ t ∈ T

� ���'��� �� m0

����
Σ
�� ������������� 	��
�

�� Σ
�� ��%����'���

�� N �� ���#��#����$ ��%� 	)	
�
�� �� ����� �� �� ���'��� ���������� �� ��$ ��∗������ �� ��� ������� ������!� ����

Σ
�� ��%�� 
�� ���%���� �� ������

�� �� Σ
�� ��%� ���� Σ′ = (N ,m′

0)
 ��� m0 ≤ m′

0

�� ��%� ��� 	����� ��%����� ��
���������  ���� ��� ������� ������! �� ��� ���
�

����� � 0! �$&� �%'! ��! �!��%&!� � ��� �� �	��
'�

m0

%� $�� � �!��&��� �� �%$�� �� �$� m ∈
��

(m0)
��! ! %� � �$%�! � %$�

�!�"!$�! σ = tδ1
, tδ2

, . . . , tδl

�"�� ����
m0[tδ1

〉m1 . . .ml−1[tδl
〉m.

��� �! � �'!
���� ��! ! %� � �$%�! � %$� �!�"!$�! η �"�� ����

m[η〉m0

� �!� x
�! � �&��!�

�"��� � ���!�%&�� �$�� $!�!��� %&� �%$%��&� �"�� ����
x ≥ σ

� �%$�! x
%� �

&%$!� ����%$��%�$ �� �%$%��& �&��!� �"��� � ���!�%&���� %� ��&&��� � �� �!���
	 ���� � �� m� x − σ

�"�� �! � ��&! �$� �!$�! m[x − σ〉m0

�
��%���� �� Π ���� �%$�&&�� ��! $!#� � ����%�%�$ ��� !��!� � ��! �%!� �� ��!  !�'! �! $!� �� Π�$!��� ��!  !'! �! $!� �� � �!� % $!� N = (P, T ,W )

%� N (−1) =
(P, T ,W (−1))� ���� %�� ��! $!� �%�� ���! �&��!� �$� � �$�%�%�$�� �"�  !'! �!�� �� �W (−1)(i, j) = W (j, i)�� ���! ����

(N (−1))(−1) = N
�$� ���� ��! %$�%�!$�!

��� %# �� N (−1) %� −C
�

�������"��% �� 	��
N '� � Π ����� Σ = (N ,m0)

� ��� Σ(−1) = (N (−1),m0)�
�� 
�� ��%���� �� � Π ���� 	����� Π ����
 �� � Π ���� 	����� Π ����
�
�� Σ

�� �������� ���� �
 Σ(−1) �� �������� �����
�� 
�� ������'����$ !���� �� Σ(−1) �� ��� ��%���� �� ��� ������'����$ !���� �� Σ �



�� Σ
�� ��%� �
 Σ(−1) �� ��%��

����� � �� ����! ��'%$��� �! �$&� �!'!&�� � ��� �� ���� '� m0

%� $�� � �!���&��� �� �%$�� ��!$ � �� � ����%�%�$ 	 �
� �$� �	�� Σ
%�  !'! �%�&!� �"� %$�$�  !'! �%�&! �!� % $!�� ��! �$$�"$�!� � ��! �� ��&��� '$�!!�� �! ��'! � ��

��
(Σ(−1)) =

��
(Σ)

� �!� m ∈
��

(Σ)
� �%$�! Σ

%�  !'! �%�&!� ��! ! %� � � %$�
�!�"!$�! τ �"�� ����

m[τ〉m0

� ��! !�� !� m0[τ (−1)〉m
%$ Σ(−1) ��! ! τ (−1) %�

τ �%�� � !'! �!�� � �$�%�%�$�� ���� &!� m[t〉m′ %$ Σ
�0! ��'! m′ ∈

��
(Σ(−1))�$�� ��'%�"�&�� m′[t(−1)〉m

�0! ��'! � �'!$ ���� ��!  !'! �! �� ��!  !�����%&%��
� ��� Σ

%� � �� �%�& � ��� �� Σ(−1) � ��!  !�"&� ��&&���� ���&�%$� ��! ���! � ���
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�!� "�  !��&& ���� ��! ����� ��#����� m = m0 +C.σ
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m ∈ INnp �"�� ����

∃ σ ∈ INnt : m = m0 + C.σ
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(m0) ⊆ ���
(m0)
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(m0) 6= ���B(m0)
%$ Π�����!��� ��%� ����!$� !'!$%$ �"�� �%��&! ���! �� ��! Π����&! �� �%�" ! 
���/ ��! �!�� �� �%$� m1 = [1, 1]T��� ��! ���! ����� ��"�� �%�� ��! ���!�%&�� Y = [1, 1]T

�� ��! &%'! �$! m0 =
[2, 0]

�&���"�� ��! ! %� $�
σ ∈ INnt ���%���%$� ��! ����! !�"��%�$ m1 = m0+C.σ
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(N ,m0)
�� ��#�� �� ��� ��%���� �� ���

��������� ������'����$ !���� �� (N−1,m0)�	�
 )�#���#� ������!� 	�� ���$ �&���
 ������ '� ���������� ����� �� m ∈ ���
(m0)\��

(m0)
� ���� ����� �� �� (���! ���#����

σ
�#�� ����m[σ〉m′  ���m′ ∈

��
(m0)�

��! $!� �� �%�" ! 
��� �%'!� ��! � �� $!���%'!  !�"&�� �� ��! "$��"$�!� Π�
$!� %� %� ����%�&! �� �!! ����

m = [0, 0, 0]
%� � ��" %�"� �� �%$��0! ��$ �!! ����

�� �$� %$%�%�& �� �%$�
m0 = [k1, k2, k3]

� m0[tk1

1 〉m1 = [0, k1 +k2, k1 +k3][t
k1+k2

2

〉m2 = [0, 0, 2k1 + k2 + k3]
� �!��%$� k = 2k1 + k2 + k3

�! ��'! m2[(t3t2)
k−1

〉m3 = [0, 0, 1]
� ��� �� %$�� t2t3

��! $"&& �� �%$� %� ��" %�"�&�  !���!��
��! $!� �� �%�" ! 
��� �%'!� �$���! �$� �!�$%�%'! $!���%'!  !�"&�� ��%� Π�$!�%� ��"$�!� �"� %� %� ����%�&! �� �!! ����

m = [0, 0, 1, 0, 1]
%� � ��" %�"� �� �%$��

'$�!!�� � �� ��! %$%�%�& �� �%$� m0 = [0, 1, 0, 0, 1]
�$� �%�� ��! �� %$�� �� t2�! ����%$ ��! �� �%$� [0, 0, 1, 0, 1]
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�"� m 6∈
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